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QUESTION 1

As shown in the figure, PC1 and PC2 are hosts that belong to the same network segment, below about between PC1
and PC2 What are the correct descriptions of IPv6 neighbor states? 

A. If the MAC address information of PC2 can be queried on PC1, the neighbor relationship may be Stale 

B. If pc2\\'s MAC address information can be queried on PC1, the neighbor relationship may be Probe 

C. There are five possible neighbor states between PC1 and PC2: Incomplete, Reachable, and Stale , Delay, Probe 

D. If the MAC address information of PC2 can be queried on PC1, the neighbor relationship must be Reachable 

Correct Answer: AC 

 

QUESTION 2

Regarding the Stub region and the Totally Stub region of the OSPF protocol, the following statement is correct (multiple
choice) 

A. After modifying the original Stub area to a Totally Stub area, the number of LSAs in the LSDB of each router in the
region will definitely be reduced 

B. ASBR cannot be present in either the Stub zone or the Totally Stub zone 

C. When you modify the original Stub area to a Totally Stub region, the number of LSAs propagating within the region
will definitely decrease 

D. If there are two ABR in the Totally Stub zone, each ABR sends an LS ID of 0000 to the router in the zone LSA 

Correct Answer: BD 

 

QUESTION 3

Protocols with TCP ports 443, 179, 137, 110, and 23 are, in order: radio 

A. Finger,DHCP Server,NetBios Name Server,POP3,TelnetB 

B. LDAP,SNMP,TFTP,POP3,Telnet 

C. HTTPS,SNMP,POP3,DNS ,Telnet 

D. HiPS,BGP, NetBios Name Server ,POP3,TelnetE. BGP,POP3,SNMP,TFTP,Teinet 
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Correct Answer: D 

 

QUESTION 4

As shown in the figure, 

all interfaces of the router have OSPF turned on, and the COST value of the link is identified in the figure. R2\\'s loop
backO interface advertises a cost in region l, then R1 reaches 10022/32 The value is 

A. 200 

Correct Answer: A 

 

QUESTION 5

Two VTEPs in an XLAN can identify a VXLAN tunnel, and this VXLAN tunnel between the VTEPs will be covered by two
NDEs is common to all VNI. 

A. True 

B. False 

Correct Answer: A 
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